
ROVER
100

25

200

                                                                                        
100 (111, 112, 114, Austia Metro )                                                                      1990->

                                                                                        
200 (XW,RF)                                                                                       01/1990 - 06/1999

                                                                                        
25 (RF)                                                                                              10/1999 - 11/2005

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 GSJ729Ball Joint c:Ø17 10RV0500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 53540 SK3 E01Tie Rod End c:Ø12,9 th:FM14x1,5 RHT17RV2500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2
53540 SK3 E01 

GSV1170 

Tie Rod End 

Axial Joint 

c:Ø12,9 th:FM14x1,5 RHT 

th:MM14x1.5 RHT L:300mm 

17RV2500 

20RV10 

1

10RV0500

1

10RV0500

20RV10 20RV10
17RV2500

1 12

17RV2500

for -> CHAS 461772for -> CHAS 461772

17RV2500

1 1

17RV2500



ROVER
400
                                                                                        
400 (RT)                                                                                            05/1995 - 06/1999

                                                                                        
400 TOURER (XW)                                                                               01/1990 - 12/1999

20RV10 20RV10

1

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1 GSV 1170Axial Joint th:MM14x1.5 RHT L:300mm20RV10

-
NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

51220 S04 003  

51220 S04 003* 

53540 S04 013  

53560 S04 013  

53560 S1A E01  

Ball Joint 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

th:M12x1.25 RHT  cp:1/10 cs:Ø14,6 do:Ø40 

th:M12x1.5 RHT  cp:1/8 cs:Ø15,6 do:Ø40,05 

c:Ø12,6 th:FM14x1,5 RHT 

c:Ø12,6 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:162,5mm 

10RV2000 

10RV2010 

17RV1000 

17RV1001 

20RV05 

21

10RV2000 10RV2010

5
20RV05 20RV0517RV1001

34

17RV1000



ROVER
45

600

                                                                                        
45 (RT)                                                                                              02/2000 - 01/2006

                                                                                        
600 (RH)                                                                                            10/1993 - 02/1999

1 23

20RV15 20RV15 17RV150117RV1500

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

53560 S1A E01  

53540 S1A E01 

53521 SM4 013 

Tie Rod End Left 

Tie Rod End Right 

Axial Joint 

c:Ø 13 th:FM14x1,5 RHT 

c:Ø13 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:138mm 

17RV1500 

17RV1501 

20RV15 

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

4

5

51220 S04 003  

51220 S04 003* 

53540 S04 013  

53560 S04 013  

53560 S1A E01  

Ball Joint 

Ball Joint 

Tie Rod End Right 

Tie Rod End Left 

Axial Joint 

th:M12x1.25 RHT  cp:1/10 cs:Ø14,6 do:Ø40 

th:M12x1.5 RHT  cp:1/8 cs:Ø15,6 do:Ø40,05 

c:Ø12,6 th:FM14x1,5 RHT 

c:Ø12,6 th:FM14x1,5 RHT 

th:MM14x1,5 RHT L:162,5mm 

10RV2000 

10RV2010 

17RV1000 

17RV1001 

20RV05 

21

10RV2000 10RV2010

5

20RV05 20RV0517RV1001

34

17RV1000



ROVER
800
                                                                                        
800 (XS)                                                                                            07/1986 - 10/1998

-

NO ASMETAL CODE MEASURES OEMDESCRIPTION

1

2

3

GSJ295 

GSJ295 

 

Ball Joint 

Ball Joint 

Axial Joint 

th:M10x1.5 RHT  cp:1/10 cs:Ø12,7 

th:M14x1.5 RHT  cp:1/8 cs:Ø18 do:Ø43 

th:MM14x1.5 RHT  L:134,5 mm 

10RV1000 

10RV1005 

20RV20 

3

1

20RV20

10RV1000 10RV1000

2

10RV1005

2

10RV1005

20RV20


